Worksheet Maths 4™ ESO

SIMULTANEOUS EQUATIONS 1

Solve the following simultaneous equations:

8x-6y:2}

1)
2x+4y =6

) x+2y=5
2x+y=7

1

=1
3x+2y

3)
1 1

Jy-2x 7

4)
x+2y_x—2y:3
3 4

4x -7y =3
5)
-8x+14y =5

15x +5y = -8

6)
-9x-3y:%
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SOLUTION

8x-6y=2| 4x-3y=1
1) -
2x+4y=6| X+2y=3
12-8y-3y=1=-1ly=-11>y=1-5x=3-2=1  Solution: x =1,y =1
CONSISTENT INDEPENDENT SYSTEM

}—>x:3—2y:4(3—2y)—3y:1

2)x+2y:5}_> x+2y=5

2x+y=7| (x(-2)-4x-2y=-14

Xx+2y=5=3+2y=5=y=1 Solution: x = 3,y = 1
CONSISTENT INDEPENDENT SYSTEM

}—3x=—9:>x:3

1
=1
3x+2y 1=3x+2y 3x+2y=1 x2 — b6x+4y=2
— - —
1 1| 7=-3y+2x] "2x-3y=7] x(-3)—>-6x+9y=-21

Jy-2x 7

3)

13y:—19:>y:—%—>3x+2(—%j:1:3x:1+%—>x:1—;

Solution: x = 17/13, y = -19/13
CONSISTENT INDEPENDENT SYSTEM

Xty X-Y _g4
2 3 3x+3y—2x+2y=18} x +b5y =18 }
4) - -
x+2y_x-2y_3 4x +8y-3x+6y=36] x+14y=36
3 4

E,-E »>9y=18=>y=2->x+10=18=>x=8

Solution: x = 8,y = 2
CONSISTENT INDEPENDENT SYSTEM

}:>Ox+0y=11

5) 4x-7y=3] x2->8x-14y=6
%
_8x+14y:5 —8X+14y=5

NO Solution
INCONSISTENT SYSTEM
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15x +Dy = -8
15x + Dy =-8 15x + 5y = -8
6 _
) ox 3y 24 _>—45x—15y=24}_>(+3)—15x—5y:8}2>0x+0y 0
RO

Infinite solutions
CONSISTENT DEPENDENT SYSTEM



